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3. Which is larger?    68 x 37          or      67 x 38 

2a 2bTrue or false?  57 x 44 = 2508
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3. 68 x 37 = 2516          or                67 x 38 = 2546  (largest) 

2a 2bTrue or false?  57 x 44 = 2508
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No, because the second part of the calculation 
is incorrect: 38 x 20 = 760 and the final answer 
should be 988.

No. May has not added the two answers 
properly. It should be 1,204.

True False – the answer should 
be 1904
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Jess is correct. 312 x 14 = 4,368 Chen is correct. 434 x 25 = 10,850
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Lots of answers would be correct – check 
yours on a calculator

Lots of answers would be correct – check 
yours on a calculator
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Lots of answers would be correct – check 
yours on a calculator

Lots of answers would be correct – check 
yours on a calculator
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20,928;                        16,128;                           17,422
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